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M4a Test 1 

1. Stan has £3.49 in his pocket.  His lunch cost £1.72.  How much money does Stan have left?


2. These are the prices of cheese in a shop.
Cheddar cheese
82p for 100 grams



[image: ]Edam cheese
66p for 100 grams




Cottage cheese
45p for 100 grams




(a) Mina buys 100g of Cheddar cheese and 100g of Edam cheese.  How much does she pay altogether?

(b) Seb buys some cottage cheese for £1.35.  How many grams of cottage cheese does he get? 


3. Gwen has a box of 250 staples to make kites.  She uses 16 staples to make each kite.  How many complete kites can she make?
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